Yantai ShenghongTrading Co., LTD

www.shenghong-autoparts.com



About us

Yantai ShenghongTrading Co., LTD is a professional and
well-recognized brake drum manufacturer in the automotive industry
with 15 years of experience. Our brake drums are designed to meet
the international standards and provide reliable performance. We
achieve excellent results thanks to first-class materials, accurate
manufacturing and extensive testing. Our brake drums are made of

premium quality materials that ensure durability and long-lasting

performance.




Hub Kit 46205
For 2500LBS, idler axle, 5-4.50PCD, 1L44610/L44610, '4"-20Press In Studs

Part Name Quantity Part No. Parts Description
Wheel nut 4 012-005 1/2"-20 cone wheel nut
Dust cap 1 098-001 1.98". drive in
Bearing cone 2 046-006 L44610
Bearing cover 2 050-002 Plastic material
0il seal | 025-003 1.25" Single lip
050-003 1.5" single lip
Hub Kit 46210
For 3500LBS,idler axle, 5-4.50PCD, L68111/L44610, %"-20Press In Studs
Part Name Quantity Part No. Parts Description
Wheel nut 4 012-005 1/2"-20 cone wheel nut
Dust cap 2 098-001 1.98". drive in
Bearing cone 1 006-006 Le68111
Bearing cone 1 046-006 L44610
Bearing cover 2 005-002 Plastic material
Oil seal 1 072-003 1.72" Single lip
Hub Kit H-100
For 2000LBS, idler axle, 4-4.00PCD, L44610/L44610, '4"-20Press In Studs
Part Name Quantity Part No. Parts Description
@ Wheel nut 4 012-005 1/2"-20 cone wheel nut
® @ e e Dust cap 1 098-001 1.98". drive in
® @ @ O Bearing cone 2 046-006 L44610
. Bearing cover 2 005-002 Plastic material
0il seal | 025-003 1.25" Single lip
050-003 1.5" single lip
Hub Kit H-150
For 2000LBS, idler axle, 5-4.50PCD, L44610/L44610, %4"-20Press In Studs
Part Name Quantity Part No. Parts Description
Wheel nut 5 012-005 1/2" -20 cone wheel nut
u ,g Dust cap 1 098-001 1.98". drive in
® ® @ @ Bearing cone 2 046-002 L44610
®® ® @ Bearing cover 2 005-006 Plastic material
Oil seal 1 025-003 1.25" Single lip
050-003 1.5" single lip

2/6



Hub Kit H-545,H-5475,H550,H-550,H-555
For 3500LBS, idler axle, 5-4.50,5-4.75,5-5.50,5-5.55PCD,

L68111/L44610, ¥%"-20Press In Studs

Part Name Quantity Part No. Parts Description

Wheel nut 5 012-005 1/2"-20 cone wheel nut

Dust cap 1 098-001 1.98". drive in

Bearing cone 1 006-006 Le8111

Bearing cone 1 046-006 144610

Bearing cover 2 005-002 Plastic material

Oil seal 1 072-003 1.72" Single lip

Hub Kit H-655

For 6000LBS,idler axle, 6-5.50PCD, 25520/15245, '4"-20Press In Studs

Part Name Quantity Part No. Parts Description

Wheel nut 6 012-005 1/2"-20 cone wheel nut

Dust cap 1 098-001 1.98". drive in

Bearing cone 1 052-006 25520

Bearing cone 1 045-006 15245

Bearing cover 2 005-002 Plastic material

Oil seal 2 025-003 2.25" Single lip

Hub Kit H749

For 3500LBS,idler axle, 6-5.50PCD, L68111/L44610, ¥4"-20Press In Studs

Part Name Quantity Part No. Parts Description

Wheel nut 6 012-005 1/2"-20 cone wheel nut

Dust cap 1 098-001 1.98". drive in

Bearing cone 1 006-006 L68111

Bearing cone 1 046-006 L44610

Bearing cover 2 005-002 Plastic material

Oil seal 1 072-003 1.72" Single lip

Hub Kit H865

For 7000LBS, idler axle,8-6.50PCD, 25520/14276, '4"-20Press In Studs

Part Name Quantity Part No. Parts Description

Wheel nut 8 012-005 1/2"-20 cone wheel nut
058-005 5/8" cone wheel nut
916-005 9/16" cone wheel nut

Dust cap 1 044-001 2.44". drive in

Bearing cone 1 052-006 25520

Bearing cone 1 076-006 14276

Bearing cover 2 050-002 Plastic material

Oil seal 1 025-003 2.25" Single lip

3/6



Drum Kit BD2-545, BD2-550, BD2-555, BD2-5475

For 3500LBS, 10"Break shoes, 5-4.50,5-5.50, 5-5.55,5-5.4.75PCD Drum;
L68111/L44610; 42"-20 Press In Studs

Part Name Quantity Part No. Parts Description
Wheel nut 5 012-005 1/2" -20cone wheel nut
Dust cap 1 098-001 1.98". drive in
Bearing cone 1 006-006 L68111
Bearing cone 1 046-006 L44610
Bearing cover 2 050-002 Plastic material
Oil seal 1 072-003 1.72" Single lip
Drum Kit BD2-54522
For 2000LBS, 7" Break shoes,5-4.50PCD,L44610/L44610; '%"-20 Press In
Studs
Part Name Quantity Part No. Parts Description
Wheel nut 5 012-005 1/2"-20 cone wheel nut
Dust cap 1 098-001 1.98". drive in
Bearing cone 2 046-006 L44610
Bearing cover 2 050-006 Plastic material
Oil seal 1 025-003 1.25" Single lip
050-003 1.5" single lip
Drum Kit BD2-655

For 6000LBS,12" Break shoes,6-5.50PCD ,25520/15245; '4"-20 Press In Studs

i Part Name Quantity Part No. Parts Description
Qﬁﬁ Wheel nut 6 012-005 1/2" cone wheel nut
020 2."@ OO W@ Dust cap 1 044-001 2.44". drive in

Bearing cone 1 052-006 25520
Bearing cone 1 045-006 15245
Bearing cover 2 050-002 Plastic material
Oil seal 1 025-003 2.25" Single lip
Drum Kit BD2-65535
For 3500LBS,10" Break shoes,6-5.50PCD ,L68111/L44610; '4"-20 Press In
Studs
Part Name Quantity Part No. Parts Description
Wheel nut 6 012-005 1/2"-20 cone wheel nut
Dust cap 1 098-001 1.98". drive in
Bearing cone 1 006-006 L68111
Bearing cone 1 046-006 L44610
Bearing cover 2 050-002 Plastic material
Oil seal 1 072-003 1.72" Single lip

4/6



Drum Kit BD2-865
For7000LBS, 12" Break shoes,8-6.50PCD ,25520,/14276; 14"-20 Press In Studs

Part Name Ouantity Part No. Parts Descrintion
#@; ﬁ Wheel nut 8 012-005 1/2"-20 cone wheel nut
n oo 058-005 5/8"-18 cone wheel nut
nnn qéo @
916-005 9/16"-18 cone wheel nut
Dust cap 1 072-001 2.72". drive in
Bearing cone 1 052-006 25520
Bearing cone 1 076-006 14276
Bearing cover 2 050-002 Plastic material
Oil seal 1 025-003 2.25" Single lip
Drum Kit BD-86580-36.BD-86580-56

For8000LBS, 12.25" Break shoes,8-6.50PCD , 25520/02420; 9/16-18 Press
In Studs

Part Name Quantity Part No. Parts Description

Wheel nut 8 058-005 5/8" -18cone wheel nut
916-005 9/16"-18 cone wheel nut

Dust cap 1 072-001 2.72". drive in
Bearing cone 1 052-006 25520
Bearing cone 1 020-006 02420
Oil seal 1 080-003 8K oil cap
Drum Kit BD-86510

For10000LBS, 12.25" Break shoes,8-6.50PCD ,382A/25520; 5/8-18 Press In
Studs

Part Name Quantity Part No. Parts Description
Wheel nut 8 058-005 5/8"-18 cone wheel nut
Dust cap 1 072-001 2.72". drive in
Bearing cone 1 082-006 382A
Bearing cone 1 052-006 25520
Oil seal 1 100-003 10K oil cap

5/6



